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The Substitution Rule for indefinite integrals: If u = g(x) is a differentiable function, then
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The correct substitution depends on the integral:
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EXAMPLE 1. FEvaluate each of the following integrals:
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The Substitution Rule for definite integrals: If u = g(z) is a differentiable function,

then
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EXAMPLE 2. Evaluate each of the following integrals:
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EXAMPLE 3. If o and 3 are positive numbers, show that

1 1
/. (1 — ) da = [ (1 —z)* dx
Wl W

. e

LHS RHS

— S o- wuPdu = g‘(\ xX) “xPdx = gx (\-x)'LJx,k”

o 0



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

